Delfini Pearls

How to Read a Forest Plot

Graphic Display:

Point Estimate, Cl and Summary Diamond

These are several studies reported in a meta-analysis (some studies are
removed, so this is not meant to total correctly) — this is justa sampler.
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Favors Intervention - Favors Placebo

1+ This square Is
the study result
(ie, the point
estimate)

" { This line is the
confidence interval
(le, a statistically
calculated range of
equally plausible
study results given a
margin for chance)
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& The Line of No Difference
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This center line is the
line of no difference.
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Favors Placebo

Results to the right favor |
placebo in this example.
Results to the left favor
the intervention.
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Non-Statistical Significance

Odds Ratio (95% CI)
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/" Therefore, it is

statistically plausible,
within 95% certainty ina
valid study, that Study B
may favor the placebo or
Study B may favor the
intervention

This is not possible

Thus, the results of Study
B are not statistically
significant

Anything touching this
line means the results
are not statistically
significant because it is
not possible to favor both
placebo and intervention.

You Need to Know the Numerical Value for “No Difference”
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difference equals 0 or 1
depending upon the
measure of outcome
used.

No difference for a
percent is expressed as
zero.

ARR and RRR are
expressed as
percentages. Therefore,
if these were used, this
number would be zero

No difference for a ratio
1s1:1. So for odds ratio
or relative risk ratio
(aka relative risk), this

numper equals 1
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